

$$t_n = 1, 5, 9, 13, 17, \dots$$

$$t_n = 4n + 1 \rightarrow \text{الف}$$

$$t_4 = 4 \cdot 4 + 1 = 17 \rightarrow \text{ب}$$

۱

$$t_n = 1, 5, 9, 13, 17, \dots \quad a = 4, d = 4$$

$$S_n = \frac{n}{2} (2a + (n-1)d) \Rightarrow S_4 = 4(1 + (4 \times 4)) = 40 \rightarrow \text{الف}$$

$$S_4 = \frac{4}{2} (1 + 17) = 40 \rightarrow \text{ب}$$

$$a_{10} = 4(1 + (10-1) \cdot 4) = 40$$

۲

$$t_n = 1 + \sqrt{3}, 2, 3 - \sqrt{3}, \dots \quad d = 1 - \sqrt{3}, a = 1 + \sqrt{3}$$

$$a_{10} - a_{100} = 9d \Rightarrow a_{10} - a_{100} = 9(1 - \sqrt{3}) = 9 - 9\sqrt{3}$$

۳

$$a_n = d^{r_n}, r_n = d^{r_n} \Rightarrow d = (r_n \times d^{r_n}) - d^{r_n} = r_n d^{r_n}$$

$$\Rightarrow (d^{r_n} \times r_n) - (r_n \times d^{r_n}) = d^{r_n} \Rightarrow d^{r_n+1} = d^{r_n} \Rightarrow r_n + 1 = r_n \Rightarrow r_n = 1$$

$$b_n = r_n, r_n, y \Rightarrow d = r_n - r_n = y - r_n \Rightarrow y + r_n = 4$$

$$\Rightarrow r_n = d \Rightarrow r_n = \frac{d}{r_n}$$

$$\frac{1}{r_n} - y = 1 \Rightarrow y = \frac{1}{r_n}$$

$$y + r_n = \frac{1}{r_n} + r_n = \frac{r_n^2 + 1}{r_n} = 4$$

۴

$$t_n = 2n - 4, 2n - 1, 9n, \dots$$

$$t_n = 9 \times \frac{1}{9} = 1$$

$$t_n = t_1 + d \Rightarrow t_n = 9$$

$$d = 2n - 1 - (2n - 4) = 3 \Rightarrow 9n + 1 = 3 \Rightarrow 9n = 2 \Rightarrow n = \frac{2}{9}$$

$$d = 3$$

۵

$ \begin{aligned} & b_n = 2, 0, 1, 1, 1, 1, 1, \dots \rightarrow b_n = 5n - 1 \\ & a_n = 2, 0, 7, 9, 11, 13, 15, 17, \dots \rightarrow a_n = 2n + 1 \\ & \left. \begin{aligned} & b_n = 2, 0, 1, 1, 1, 1, 1, \dots \\ & a_n = 2, 0, 7, 9, 11, 13, 15, 17, \dots \end{aligned} \right\} n < 7 \\ & b_7 = 29, a_7 = 15 \Rightarrow M_n < 41, M_n < 09 \Rightarrow M_n < 41 \\ & M_n = 2, 0, 1, 1, 1, 1, 1, \dots \\ & M_n = 9n - 1 \rightarrow 9n - 1 < 41 \\ & \Rightarrow 9n < 42 \Rightarrow n < 4.6 \Rightarrow n: 1, 2, 3, 4, 5, 6 \rightarrow 6 \text{ شش} \end{aligned} $	6
$ \begin{aligned} & a_1 + a_r + d_r = 21 \\ & a_1 + a_r + a_d = 1.8 \\ & \downarrow \quad \downarrow \quad \downarrow \\ & r-d \quad r+d \quad r+d \\ & \left. \begin{aligned} & a_1 + a_r + d_r = 21 \\ & a_1 + a_r + a_d = 1.8 \end{aligned} \right\} \Rightarrow \begin{aligned} & a + a + d + a + r + d = 21 \Rightarrow r + a + r + d = 21 \Rightarrow a + d = 7 \Rightarrow a_r = 7 \Rightarrow a_1 = 7 - d \\ & r - d + r + d + r + d = 1.8 \Rightarrow r + r + d = 1.8 \Rightarrow r + d = 1.8 \Rightarrow d = 1.8 - r \Rightarrow a_1 = -2d \end{aligned} \\ & a + r + d = 7 \Rightarrow a_r = -2d + 1.8 = 1.8 \end{aligned} $ $ \frac{a_r - a_r + a_1}{a_1} = \frac{1.8 - 7 - 2d}{-2d} = \frac{1}{-2d} = -\frac{1}{2d} $	7
$ \begin{aligned} & a_1 + a_r + a_r = 1.8 \Rightarrow a_r - d + a_r + a_r + d = 1.8 \Rightarrow 3a_r = 1.8 \Rightarrow a_r = 0.6 \Rightarrow a_1 = 0.6 - r = 2 \\ & a_1 + a_0 = 2.0 \Rightarrow a_r + r + d + a_r + r + d = 2.0 \Rightarrow 1.0 + 2d = 2.0 \Rightarrow 2d = 1.0 \Rightarrow d = 0.5 \\ & a_1 = a_r + 9d = 2 + 4.5 = 6.5 \end{aligned} $	8
$ \begin{aligned} & S_9 = 9S_r \\ & \downarrow \\ & \frac{9}{r} (r + 11d) = 9 \times \frac{r}{r} (r + 11d) \Rightarrow r + 11d = r + 9d \Rightarrow r = 9d \Rightarrow r = d \\ & \frac{a_r}{a_v} = \frac{a + 11d}{a + 9d} = \frac{a + 11(r)}{a + 9(r)} = \frac{r + a}{r + a} = 1 \end{aligned} $	9
$ \begin{aligned} & a_1 = 11, a_r = 23 \Rightarrow 9d = 12 \Rightarrow d = 4 \Rightarrow a_2 = 11 + (1 \times 4) = 15, a_2 = a_2 = 15 \\ & b_1 = 18, b_2 = 13, b_2 = 23 \Rightarrow 23 - 18 = 5 \Rightarrow d = 5 \\ & \frac{13 - 18}{23 - 18} = -1 \Rightarrow 9L - 1 = \frac{-5}{-5} \Rightarrow 9L = 4 \Rightarrow b_1 \rightarrow b_4 \\ & 4 \text{ واسطه بین این دو است.} \end{aligned} $	10